Math 153 - Quiz 9 Name [<es
November 8, 2012 Score

Show all work to receive full credit. Supply explanations when necessary.

1. (6 points) A stay in a U.S. emergency room has an average length of 222 minutes with
a standard deviation of 27 minutes. Assume stay lengths are normally distributed.

(a) What is the probability that a stay will last less than 60 minutes?

P(X < CoO) = ho(‘ml:.‘\cd-? (-‘1"{‘%%5 L0, daa, 37>

= 9.9x 07" ~ oOF

(b) About how many patients in a group of 700 will have stays that last between 190
minutes and 250 minutes?

Too x P(190<x< 380) = ~’?‘oo- norma lcdf (190,350,399,27)
- 518.51795 » 513
(c) Find the stay length at the 75th percentile.
Pix<k)= 0.75 Fuws k.

invNorm (0,75, 598,237) = a4o. au

2. (4 points) Heights of men are normally distributed with mean 69.0in and standard
deviation 2.81n.

(a) At 91in, Manute Bol was one of the tallest NBA players of all time. What is the
probability that a man is taller than Manute Bol?

P(x>at) = normalcaf( q1,929319, 9, 2.8)
¥ adx |0 o O'\'

(b) What are the heights of unusually tall men?

Mt do = 4,9 4 9(9‘8) = _7:_/ o
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